DG 107629R  0+328.65 (KLK, R=3000m)

0+260.00

DG 107629R

DG 107629R  0+215.85

2 85 3 2 2 =8 o2 8 2
e O e e e e
9=Gd S - 199 196CSTHE6TECE 000 | M L so9 dzoveztaovezd 000 A
9L '9=(di LS9 169 +2082120£2+ 00°0
- S6'S 10bvezH00VEt 650 - S6' 105 bETHe8°8+ L9
g - G9G 1Th eCHP0TECT 850 - G9G G VECHYLEET+ 6170
]
J 890 TLEYLITYIT £l | - G9T 181 PeZ-HISPET 1 00—
7 - 06 1S vecHLivect ¢l - 06T 190 VSC-HYS et £10- 1
81 ve¢
o
o | £
S| s
o | &
Lo S
| B
& ¢
o Lo , . = gz | ,
- 000 LTI VLT VL0 e | - 000 7 7E¢-H09%82+ 910~
L
[@>) =
[aY] [=]
© | 2
S| E
| w
O | g
o4
&
. . . . T ez | .
[\ - 0G0 - 152 7520628+ SET0 1 F06e- 19 VEC+B1Y8Z+ £10
i v FGOC- 18 vEC+I8 e+ G0 ﬁ -GC- 18 Vel Vet 80
fmm - 98°9- +h YECHETYETT 120 A_ wwu mmw%mw mmw H
t - 169 1T HITYET+ 000
Vs
T_LL - Gh8— 18V ¥e7-+SS Ve L0701
CGL 8= 1Sy el GG ¥eC1 010 1
06'8- TGS ¥ECTSEYE(T 000
S.emmn._m_..-%. .........
s o o o s s ] ] ] s
N T T U N N T T T N
2 85 @ 2 = 2 =T @ 7T 2
% c %) <
) S o S
2ol 2|5 HESEIE
(@3] (@)
S| 2| @ o | 2| v
RS = ] O e = ®© o
% O -+ % - i
O O
= () (] L= (D) (D)
c |l c| c|.© c |l c| c|.©
> O O - > ] O -
(2] [N [N ‘N 2] O (O ‘N
o N N \O o N N \O
O |x | | O |x | |
2 8 3 8 2 =8 a2 8 J
ettt e
= - £9'9 TE9ECTHEIEETT 000 O - 669 9687198+ 000
- 66 L1PE7 +Syeet §90 - G6'C 101 Y5708+ 10
- G9'G TELYEZ+8EEETT SL0 1 - G9G TEIYSTHLLRET+ Th 0
] ]
- G9C 190 7SC+I60E 8L0 1 = m - G9T +80757H80¥EZ+ 000
ﬁ - 0S¢ Toeceieter w0 4 B ﬁ - 06T +96°CS(H0I've¢+ €10~
o
(e
o
11
(net
<
ad
3
N~
<
- 000 -+E0¥ET-+80%621S00-1 & - 000 1207202 82+ 910~
N
+
(@)
(n'e
(@]
(9]
O
M~
(@)
b
| F0ge- 196eez+zeeezt 100 4 9O f L oce- LogeezLeseezd 170
W FG3T-1809CCH06EECT 810 { O ; 066 196 LECTSLECCT 100
| - 06'C— 1965704 C8+ 970
L - GL9- HPIHET 19667+ €50 1 |
- Gh9- 12 ¥EC 098+ 760 - 06°9- 110°VC +£2 82+ ST 0
- 96°9- 61 ¥EC+82 V£t 6010
- Y7L 166'687+65°C8+ 000 Ik i
.......................... t - G9'6- 197 VET-+26EC+ YE0
98'6=0dd
| FeL L =08982H00 78+ 010
0Tl -1 Y5028t SO0
F0 -1 ECVECHECVECt 0010
Qol=dd T
: oy oy oy : : ey ey ey :
| 1 | | | |
2 =5 & 2 - T B & 8 7
% - %) <
o O o &)
> >
< | ._ 2 5 o | ._ 2 5
© o o o
Rl B S o | 2| v
9 = ) o 9 = L o
O O -+ O O -+
[ O [ O
= (D] (D] L= (D) (D)
c c c | .9 c c c | .Q
> O O - > ) O -
2} [ [ ‘N 2] (Y (Y N
o N N \O o N N \O
O |x | | O |x | |
2 8/ & A 9= 2 8 & &8 =
T e e e T T e e e 7
N T T T N N T o T N
I — - CS9 +Y0VECTv0YEC 000 o 99=adi 7~ - 81°9 +YBCCTHYECETT 000
- (8 T PEIHS0HST 680 A [ 86 TvC¥ETBO%ELT 90D
L /GG /v eS0T+ 0 - M - 89°C +LCYCCTI0VEC+ 9C0 A
- 08 178708 HeT+ €10 A L g9c LzzverLorverd 710 4
P 69¢ Ticved TISVECT 000 A Al
[a)
<
[am)
<t
N
+
[an)
- 000 1 WIN4Yg o - 000 NUATYA
[@>)
N
©
N~
[em)
<~
)
Qo
s o o o s s ] | ] s
N T T T N N T o T N
g 8 2 3 T Z 8 Z 8 #
‘» e %) e
O PVv/. (@] W
2l 2|5 HESEIE:
(@] (@)
o ht L O L L
ols | o | X Sls ||t
O O -+ O O -+
oS o O )
= () (<] .= (D) (D)
c | ¢ c | .9 c c c | .©
> O O [ > ) O -
(2] [N [N ‘N w0 [O8 [O8 N
O N N \O O N N \O
O |x | | O |x | |

DG 107629R  0+310.00

DG 107629R  0+247.00

(-
N < N >3 . -
© + 2| © >
SC3 £ O
258 |
282 3 = &
Ysw = o
=~ o = 5| 8
=825 5|l =
°E<y
35N
x -~ 2w x
o83 & 5
AWn =) _nln = Ll o
522= Q = =
S5E 2 el | N |zl g
mSE i % N O (2] 8
wo=a | o = RIS
eI < W = <= s >3
.aZz2Z2F < == m =)
-« < |23 22 s o
2 <=m=Z |8 % =5 oo
Z SON W ¥ >5=
soz4w 3| S = o
200 Zx |8k xE o
22O NM@ S w O w (11|
ENBNS |23| @g =
soag s N & o
o . 5 a O
T 3% |5 ¥ x| |5
£ g |8 RIME
s = SIME
ZX » m o
o
53 § g
< - C ..
333 5 |Ig|2
<=c29 = g HEN
= S N X I s| S
NSZE i s 3|5
OSo 2 @
EN-& 20 3|~ EE
SN g8 | s %
EE 3 i< g
@ © B s.l3 o |lgles
2im 5339 | 2 || 5E8
- g E853 TR
<O M PR R
£ gl 5433 5
2 8 2 8 2
L o B
89=ad % - 959 186667186671 000 -
- G6'G 162 ¥Er 166067+ 920
- G9G LT YECT00YET+ L2°0
—
] - 69T 120 HSCTBL ST+ £0°0
ﬁ - 06 OI'vEC+eCvec+ 10—
- 000 141952128450+ S0
mw - 06°e- 1-01'v82+E1ve+ 20'0-
- 06'C- 1-0L'¥EC 110452+ 60°0
- 06°G- +-ELYEZTH0YEZ+ 010
ﬁ FG9C- G YEC+90HEL+ 610
t - 198 198 YET1TSYET+ 120~
| FLLOL=LE VST Y57+ L0'0—
FL0°H =S VECHPE 70+ 000
orgi=Gdd 1
I e e
5 8 & & &
N%) <
© S
o | ._ W .m
o o
ol | @
o|ls | o | &
O o -+
(Y O
= (B} ()
- c c | .L
> O O -
n (O3 [N ‘N
o N N \O
O |x |x | x
2 &8 & @m 9=
T e
N T T T N
P T - 899 1G°CE7TESTET+ 000
- S0'9 +TTYSLHEY ST BL0
jm_ - GL'S YT ECT68C871 580
f -G/ 161792119087+ 950
I - 09€ L0VE¢+99ect £50
|
, - 000 161%52 151 vEz+ 100~
|
,
f
!
| - 16'G- 120762110752+ 20°0
; = 60°9- 00 VEC 10V + (00 o
S TR
899=ad 1~
N A A N A N N
N T T T N
2 & 7 [ 7
R%) e
© S,
HEEE
(@]
O L -
o|ls | o | Y
M..W,. o -+
O
= () ()
- - c | .L
> O O -
2} O [N N
O N N \O
O |x | x| x




	Sheets and Views
	6.1


